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RELATION B/W COEFFICIENT & ROOTS
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Q) Let o and B be the roots of the equation > T /;ga <]
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Q) Let o and B be the roots of the equation
x?—(1-2a?)x+(1-2a%)=0
Under what condition 1s L L < ?
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Ans: (a)
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Q) If one root of the equation ({—m) x2+{ x + £ =0 is double the — 3o =  duq%
other and ] is real, then what is the greatest value of m? —
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Q) If one root of the equation (1 —m) x*+1 x + 1 =0 is double the
other and | 1s real, then what is the greatest value of m?

9 9
(a) 3 (b) 3
8 8
() 3 (d) 9

Ans: (b)
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Q) If the roots of the equation x*> — nx + m = 0 differ by 1, then

) n2—4m-1=0 () n2+4m-1=0
(¢) m?+4n+1=0 (d) m?’-4n-1=0
N+ A (1) n°=Ym—f =0 3 n"= Amt]
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Q) If the roots of the equation x*> — nx + m = 0 differ by 1, then

(a n’-4m-1=0 (b) n’+4m-1=0
(¢) m?+4n+1=0 (d m?*-4n-1=0

Ans: (a)
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Directions The equation formed
by multiplying each root of ax®+ bx+c=0 by 2 is
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Q)If o. and {3 are the roots of the equation 3x° +2x +1=0,
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then the equation whose rootsarect + B~ andp + o™ is S4M ¢ r0073 9("(8 4‘9 4 /0{5%[ )

(@) 3x°* + 8x + 16=0 (b) 3x* -8x - 16=0
() 3x* + 8x -16=0 (d)x* + 8x +16=0 _ 2/\2
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EXAMS

Q)If o and (3 are the roots of the equation 3x* +2x +1=0,

then the equation whose rootsareo. + 37" and3 + o 7 is

(@) 3x°+ 8x +16=0 (b) 3x* -8x —16=0
(€) 3x* + 8x -16=0 (d)x* + 8x +16=0

Ans: (a)
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Q)What is the value of b : ¢?
(a) 3:1 (b) 1:2 (c)1:3 (d) 3:2
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Q)What 1s the value of 6 : ¢?
(a)3:1 (b) 1:2

Ans: (a)

(c)1:3

(d) 8:2
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Q)Which one of the following is correct?

(a) be = a* (b) be = 36a*
(¢) be = 72a” (d) be = 108&?/
& =/ y. b= [& / ¢ = ¢
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Q)Which one of the following is correct?
(a) be = a* (b) be = 36a*
(¢) be = 72a” (d) be = 108a”

Ans: (d)
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Directions Consider the
equation ax® + bx + ¢ = 0, then condition that
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Q)One roots is the reciprocal of the other roots is

) a=c 0 a=-
(c) 2b=a db=a
o L
o
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Q)One roots 1s the reciprocal of the other roots 1s

(&)Gf,:C (b)az__
(c) 2b=a db=a

Ans: (a)
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Q)One roots 1s n times the other root 1s
) ac(n +1)° = b’n (b) ab” (n + 1)
) ac(n + 2)* = b* (d) 4a* = b*

o N o /M?’+éx,fc =0

4 | W = ac(nr) S
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Q)One roots 1s n times the other root 1s
(a) ac(n + 1)* = b°n (b) ab® (n + 1)
) ac(n + 2)* = b* (d) 4a”* = b*

Ans: (a)
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Q) f(x) = x* + 2ax + Land o 1s a root of the equation 7% )
f(x) = 0, where a is real. ) =Xt Jax +/

Which one of the following is correct ? 0 - 2

(a) f(o)=0and f(1/a)# 0V 7[ / [+ da(}) #/
C(b) f(@)=0and f(1/a)= 0V
,(© fle)#0and f(1/ )= 0 > [t 4]+
O{(d) fl@)# 0and f(1/a)#0 -

YZ/W): L"f%‘qaof%/ 20 [0{ ;S‘&?‘eo'/ﬂ)
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Q)f(x)=x*+ 2ax +1 and o is a root of the equation
f(x) = 0, where a 1s real.

Which one of the following is correct ?
(a) flo)=0and f(1/a)=0
(b) fla)=0and f(1/a)=0
(¢) flo)#0and f(1/a)=0
(d) fla)#0and f(1/a)#0

Ans: (b)
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Q)If p and g are the non-zero roots of
the equation x° + px + g =0, then
how many possible values can g

have?
(a) Nil (b) One
(c) Two (d) Three
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EXAMS

Q)If p and g are the non-zero roots of
the equation x° + px + g =0, then
how many possible values can g

have?
(a) Nil (b) One
(c) Two (d) Three

Ans: (b)
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Q)What is the value of \/01 \[ T — .
AR __ .0 =
\/5\/5\/5\/....00 ? A
B o ® 5
(c) 1 @ (5)1/4 /(ercﬁq[) ab 1 annd-be epw fo
=0 ¢« L=¥%

/

a(e/'lﬂ S| 5 -
- DG,

Z:\[ﬁ'l ] x=15

12—: hyq T—? ZZ,I)'“%:D

S

1(1-5) =0




NDA 1 2025 LIVE CLASS - MATHS - PART 2

Q)What 1s the value of

I5Vsy5voms 2

(@) 5
(¢c) 1

Ans: (a)
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Q)If the roots of the quadratic equation x* + 2x + k = 0 are

real, then
(@) k<0 (b) k<0 4 7 4k

() k<1 y)k£1
7097{( ANE 7‘@@/ @
/
Hh >0 ame D =0
N
D2y

(9’ -uxtxk 70
4 — 4k 70
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Q)If the roots of the quadratic equation x* + 2x + k = 0 are

real, then
(@) k< O (b) k<0
(c) k<1 (d) k<1

Ans: (d)
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Q)If sinO and cosB are the roots of the Sme + QDQE = :..A_.

equation ax”® + bx + ¢ =0, then . @
which one of the following is Sinb €%y = C
correct? &
()az+b2—230 0 [90 L ;
mo +CoSp) " — g6 —/ =
(b) — a 2+ b%+2ac=0 : ) m _/_'»
(c)a® —b2 +2ac=0. ('__gz Ly .
(d)a® + b® +2ac =0 "0_() 7() -/ =0
2
2 _
—o0C-4 =
b= - -4
b Q& 4" +dac-b" =
2 L —
b-dac-a =0 Q' 4+ Qac -0
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Q)If sin® and cos© are the roots of the
equation ax® + bx + ¢ =0, then
which one of the following is
correct?

(a )a2+b2 ~2ac =0

(b) —a* + b® +2ac =0

() a® —b? +2ac =0

(d)a® + b® +2ac =0

Ans: (c)
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Q) In solving a problem that reduces to a quadratic equation,
one student makes a mistake in the constant term and obtains
8 and 2 for roots. Another student makes a mistake only in
the coefficient of first-degree term and finds —9 and —1 for
roots. The correct equation 1s

\/(a) x2—10x +9=0 (b) x? —10x —9=0
() x*—10x +16=0 (d) x*2-8x-9=0

"‘._2.. = Atp = 84 2fo = Son of vy

L Ap= (~4)(-) = ¢ —:/Divj{ucf’ ‘97[@1%

d
g
17— 0 +9 =

EXAMS
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Q) In solving a problem that reduces to a quadratic equation,
one student makes a mistake in the constant term and obtains
8 and 2 for roots. Another student makes a mistake only in
the coefficient of first-degree term and finds —9 and —1 for
roots. The correct equation 1s

@) x2—10x +9=0 b) x2 —10x —9=0
©) x2—10x +16=0 (d) x2-8x—9=0

Ans: (a)
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